
Calculus II
Exam 3, Fall 2002, Answers
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2. Doestheintegral converge or diverge?Give reasons.If youcan,evaluatetheintegral.
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3. Doestheseriesconvergeor diverge?Give reasons.

a)
∞

∑
n � 0

n
�
2n � 1�
3n

Answer. Thisseriesconvergesby comparisonwith
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Answer. Thisdivergesby comparisonwith theseries∑n � 1, sincelnn � n.



4. Whatis theradiusof convergenceof thepowerseries?Show yourwork.
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Answer. We calculatetheratiosof thecoefficients:
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5. Find theMaclaurinseriesfor thefunction.
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Answer. We startwith thegeometric series:
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andfinally, integrate(termby termon theright):
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